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yste | 127,864
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70,0003 +x7H %23 980
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OE2X sS4l 7,000& x4H 10 280
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50,0003 123 *304 & 1,800
OsIJIHAYZE See Fl
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OsJIHYUHAY 22 A
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22224 115,240
OsJIHEE= 55,000& »447TH 24,585
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OsJH dUiArgY & HAdE =& 2,500
—sJIH UMY =X 2,500
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OJIEt MEd 72 9,000
307 212t01 & 4,500 0 4,500
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- 2E 3| 1,100,000& *3CH 3,300
—SEELI(XIHEM) 8,200,000& *2CH 16,400
OsJIAH MIIEs 7Y 73,700
— kb= Al A | 5,500,000& *2CH 11,000
— EIHIAE D (XIZEM) 10,000, 000& *=3CH 30,000
— =M (48) 2,900,000 *1CH 2,900
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— OS] 17,000,000& =1CH 17,000
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Os2d NN £aASAY 128,758
METHR HRAA 6,850 5,300 1,550
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OMEXa 2xx 6,000
SE Y d208 =4 13,730 13,730 0
201 2et24d] 5,470 6,170 AT700
03 &AL Z I 5,470 6,170 A700
OXgudeld d8us A==
130, 000& 92| 1,170
OXgddeld 9EiHe A3s
4,300,000& %13 4,300
206 M= Hl 5,960 5,960 0
01 M2 4l 5,960 5,960 0
OXNgH4deld dH4usE M2 5,960
— T MEIHjL3 20,0003 »23] x24H 960
—S% dEHLS 20,0003 »250H 5,000
301 et a3 2,300 1,600 700
09 EAEHIE &S 2,300 1,600 700
OMEIfHS , sgel &. SR WEE4 1,600
-5 40,000& x10H 400
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s 30,000
201 24l 30,000 0 30,000
X 15,000
s 15,000
01 At 2t 2l 30,000 0 30,000
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Xl 15,000
s 15,000
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Xl 15,000
= 15,000
01 A3l 20,000 11,000 9,000
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Xl 10,000
s 10,000
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